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Ritp://farbe i tu-berlin.de/ CEH6/CEHBLONA. TXT /.PS: start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu6 triangle lightnesst*

t* Yoc=Yw - nc=100,

1 ABINDUs =IN(A 1+ A2/ (A2rAcn)  (Yn/100<Y<=Yyo)
L aBanDus =IN(A 17+ A2 (A Ao (=Y/%)
t\(3,6)=146,1* (18)=332,1* y(90)=517 ¢ *

>’

t+,=332,22 m,=264,6F

application

LABJINDu6

tristimulus value difference

Yoc=Yw nc=100,
L ABINDUs =IN(A1ntAZNY)(A2rAon)  (Yad/100<Y<=Y,o)
1 AgNDus =IN(A 10t A2X)(A2iAon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aon 0615, Aona=1,0, see CIE 2302019

>
=332, dY,=0,18 dY,/(,=0 4101 /&

log AY/Y) LABJINDUG
_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100
L ABINDUs =IN(A1n A2 Y (A2rAon)  (Yad/100<Y<=Y,o)
1 AgNDus =IN(A 10t A2X)(A2iAon) - (X=YTYy)
AYIN=A (A 1+ A=A (A 1+ Ap )Y

1
=1
xN=0,2 Xw=5

LABJINDu6

tristimulus value contrast
Yoc=Yw nc=100

L AgINDus =IN(A1n A2 Y)(A2rAon)  (Yad100<Y<=Y,o)
t*LaBINDUs =IN(A 10t A2 )/ (AoAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

application
1 range

%=1
AN—92  pXw=5

t/tx LABJNDu6 relative triangle lightnesst*/t*
u gle lig u

e, Yoc=Yw - nc=100,

tLagaNDus=IN(A1ntA2Y)(A2rAcn)  (Yad100<Y<=Yyo)
tLagaNDus=IN(A1ntA2X)/(A2iAon)  (X=Y7Yy)
t+(3,6)=146 *,(18)=332,t* (90)=517

t+/t* =1, m,=0,79

application
range

=1
Xw=5

log(AY/AY,) LABJNDuUS relative
AYIAY tristimulus value difference
u Yoc=Yw nc=100,

t*LagaNDus =IN(A1ntA2Y)(A2rAcn)  (Yad100<Y<=Yyo)
t*LaganDus=IN(A1ntA2X)/(A2iAon) - (X=Y7Yy)
dY/dY =(A1+A X (A1 +AY)

>
t+,=332, dY,=0,18 dY,/r,=0 4101 4@
=g
logl(dYY(dY),J=0. 7,20 56 e %1
«* application
. 1 range
%=1
XN=0,2 Xw=5

-

CEHG0-4A
log [(AY/Y) | (AYIY),] LABJINDUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
t*LaBINDUs =IN(A 1n+A20Y)/(A2rAon)  (Ynd/100<Y<=Y,()
tLaganDus=IN(A1ntA20X)/(A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)

A N
log[(dY/YY(dY/Y)]=0, m=-0,13 o
t*,=332 dY,=0,18 dY,/Y,=0,0101} ?g’npg','ga""”
%=1

XN=0,2 Xw=5

CEHG0-6A
log [(Y/AY) I (YIAY),] LABJINDuUS relative
tistimulus value contrast

GGy =(YIBVIYIAY), e ™S VA 60
t*LaABINDUs =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Y,()
tLagaNDus =IN(A1ntA2X)(A2iAon) - (X=Y7Yy)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)

application
range

LABJNDuG6 triangle lightness T*
T+ YocmL*w -~ nc=100

T*LaBNDus =IN(A17+A2nY) (AznAon)  (Yo/100<Y<=Yoo)
T*LABINDU=IN(A 1+ A2)/(A2uAon) - (X=YI¥0)
T*\(3,6)=146,T* ((18)=332,T*(90)=517,*

24

T+ ,=332,22 m,=264,66

application

CEH61-1A

logAY) LABJINDu6
AY tristimulus value difference
Y=L w nc=100,
T*LABINDUG=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T*LABINDu=IN(A 1+ A2/ (A2 Aon) - (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aon0es=1,5, Aon a=1,0, see CIE 230:2019 _.
4
>

CEH61-3A
log AY/Y) LABJINDUG
_ tristimulus value sensitivity
SEERY) Yocml*w © nc=l
T*LABINDUG=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBINDu=IN(A 1+t A20)/(A2uAon) - (X=YTYy)
AYIN=A A1+ A Y)Y =Agn (A1t Ag )Y

~

=1
XN=0,2 Xw=5

CEH61-5A

log (Y/AY) LABJINDu6

tristimulus value contrast
G Yol W =100

nc’

T*LABINDUG=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Yyo)
T aganDus=IN(A 10+t A2X)/(AgAon)  (X=YT1Y,)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

application
1 range

%=1
Pw=5

CEH61-7A

CEH61-7N

TUB-test chart CEH6; LABIJNDUG*(Y) & T*(Y), Yne=(Y&L*) wrcBne &x=1,00
Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,017, A,=0,0058, A,=0,10

THT* LABJNDuG relative triangle lightness T*/T*
THT* Yoc=L*w - nc=100,
u

T*LABINDUG =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUG=IN(A 10t A2 (A2 Aon)  (X=YTYy)
T*N(3,6)=146,T*,(18)=332,T*,(90)=517

T*/T* =1, m;=0,79
* =, * =
L*,=49,T*,=332 application

range

CEH61-2A

log(AY/AY,) LABJNDuUS relative

tristimulus value difference
NN YomL*yy - =100,

T*LABINDUG =IN(A 1ntA2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUG=IN(A 1ntA2) (A2 Aon)  (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

CEHB1-4A
log [(AY/Y) | (AYIY),] LABJNDUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y . =1*, =100
T*LABINDUG =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUG=IN(A 1ntA2)/(A2uPon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

log[(dY/Y)(dY/Y),]=0, mu:—0,13. ki —
T+,=332 dY,=0,18 dY,/Y,=0,010%} ra;npélecatlon
')‘Fl
Xn=0,2 Xw=5

CEHB1-6A
log [(Y/AY) I (YIAY),] LABJINDuUS relative
tistimulus value contrast

GG =(YIBIYIAY), 5 ® YANE 130

T*LABINDUG =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUG=IN(A 1ntA2)/(A2uPon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)

application
range

CEH61-8A
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